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Abstract

In this independent study, we study the angle release the ball to the hoop in
basketball and the angle which the ball acts on the three positions that are two points,
three points and penalty. In two points, the distances between the player and the hoop is
3.66 meters and in three points, the distance between the player and the hoop is 7.24
meters. For penalty, the distance between the player and the hoop is 4.57 meters. The
position of player is standing parallel to the basketball pad of all three positions. In this
study, we consider female player with 165 centimeters tall and we set the velocity. The ball
is released from the shooter at different distances. We set up a camcorder to record
basketball shooting in three positions and using its to analyze in GeoGebra program. For two
points position, the ball is released at 58 degrees with initial velocity of 6.90 meters per

second and obtains the angle which the ball acting on the hoop is 43.50 degrees.



For three points position, the ball is released at 53 degrees with initial velocity of 9.20
meters per second and obtains the angle which the ball acting on the hoop is 46.13
degrees. For penalty position, the ball is released at 58 degrees with initial velocity of 7.7
meters per second and obtains the angle which the ball acting on the hoop is 47.45

degrees.
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